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QUESTION BANK 
CLASS 12TH 

BIOLOGY 
UNIT-1 

ASSERTION REASON QUESTIONS 
Instructions:  
Select the correct option for each Assertion-Reason question. 
(A) Both assertion and reason are correct, and the reason is the correct explanation of assertion. 
(B) Both assertion and reason are correct, but the reason does not explain the assertion. 
(C) Assertion is correct, but the reason is incorrect. 
(D) Assertion is incorrect, but the reason is correct. 
Ǔनदȶश :- 

1. Ĥ×येक Ĥæन मɅ एक कथन(A) और एक कारण (R) Ǒदया गया है। 

2. आपको दोनɉ कथनɉ का सावधानीपवू[क ͪवæलेषण करके सहȣ उƣर का चयन करना है: 
A) A और R दोनɉ सहȣ हɇ, और R, A कȧ सहȣ åयाÉया करता है। 

B) A और R दोनɉ सहȣ हɇ, लेͩ कन R, A कȧ सहȣ åयाÉया नहȣं करता। 

C) A सहȣ है, लेͩ कन R गलत है। 

      D) A गलत है, लेͩ कन R सहȣ है। 
 

1. कथन: असंगजनन Ǔनषेचन के ǒबना बीजɉ का Ǔनमा[ण करता है। 
कारण: असंगजनन यौन Ĥजनन के ǒबना सजीवɉ का उ×पादन करता है और आनुवंͧशक 
Ǿप से समान संतǓत उ×पÛन करता है, िजसस ेसमानता सुǓनिæचत होती है। 
Assertion: Apomixis leads to the formation of seeds without fertilization. 
Reason: Apomixis occurs through asexual reproduction and produces genetically 
identical offspring, ensuring uniformity. 

2. कथन: हवा ɮवारा परागण Ĥायः उन फूलɉ मɅ अͬधक पाया जाता है िजनमɅ चमकȧले रंग 
और तेज खशुबू होती है। 
कारण: हवा ɮवारा पराͬगत फूलɉ मɅ सामाÛयतः चमकȧले रंग और तेज खुशबू नहȣं होती 
Èयɉͩक ये गुण जानवरɉ ɮवारा परागण आकͪष[त करने के ͧलए अͬधक उपयुÈत होते हɇ। 
Assertion: Pollination by wind is more common in flowers with bright colors and strong 
scents. 
Reason: Wind-pollinated flowers generally lack bright colors and strong scents because 
these traits are more suited for attracting animal pollinators. 

3. कथन: पौधɉ मɅ बहुħूणता  हमेशा समान ħूणɉ के Ǔनमा[ण का कारण बनती है। 

कारण: बहुħूणता एक Ǔनषेͬचत अडंाणु से कई ħूणɉ का Ǔनमा[ण करती है, लेͩकन ये कभी-
कभी उ×पǐरवत[न के कारण आनुवंͧशक Ǿप से ͧभÛन हो सकते हɇ। 
Assertion: Polyembryony in plants always results in the formation of identical embryos. 
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Reason: Polyembryony involves the formation of multiple embryos from a single 
fertilized egg, but they can sometimes be genetically different due to mutations. 

4. कथन: अǓनषेक फलन  फल Ǔनमा[ण मɅ Ǔनषेचन के ǒबना ͪवकास को स¢म बनाता है। 
कारण: अǓनषेक फलन ĤͩĐया मɅ अडंाशय ͪवकͧसत होता है, लेͩकन Ǔनषेचन कȧ 
आवæयकता नहȣं होती, िजससे बीजहȣन फल बनते हɇ। 
Assertion: Fruit development without fertilization (parthenocarpy) can lead to seedless 
fruits. 
Reason: Parthenocarpy occurs when the ovary develops into a fruit without fertilization, 
and seed formation is prevented. 

5. कथन: Ǔनषेचन के बाद ħूणपोष का ͪवकास ħूण के पोषण के ͧलए अ×यंत मह×वपूण[ है। 
कारण: ħूणपोष ħूण को आवæयक पोषक त×व Ĥदान करता है, हालांͩक कुछ पौधɉ मɅ 
अÛय संरचनाएँ भी पोषण Ĥदान करती हɇ। 
Assertion: The development of endosperm after fertilization is essential for the 
nourishment of the developing embryo. 
Reason: The endosperm provides the necessary nutrients, but it is not always required in 
all plant species as some rely on other structures for nourishment. 

6. कथन: अडंो×सग[ के बाद सगभ[ता को बनाए रखने के ͧलए Ĥोजèेटेरोन का उ×पादन अ×यंत 
आवæयक है। 
कारण: Ĥोजèेटेरोन गभा[शय कȧ आंतǐरक परत को मोटा करता है, लेͩकन इसके èतर का 
गभ[धारण के बाद घटना भी आवæयक है। 
Assertion: The release of progesterone after ovulation is essential for the maintenance of 
pregnancy. 
Reason: Progesterone helps in thickening the uterine lining, but its level must decrease 
after implantation for a successful pregnancy. 

7. कथन: शुĐाणुजनन और अडंाणुजनन दोनɉ मɅ सूğी ͪवभाजन  कȧ ĤͩĐया शाͧमल होती है, 

लेͩकन केवल शुĐाणुजनन चार काया[×मक शुĐाणु उ×पÛन करता है। 
कारण: अडंाणुजनन मɅ केवल एक काया[×मक अडंाणु बनता है Èयɉͩक बाकȧ तीन 
कोͧशकाएँ पोलर बॉडी बन जाती हɇ, जो Ǔनषेचन मɅ भाग नहȣं लेतीं। 
Assertion: Spermatogenesis and oogenesis both involve meiosis, but only 
spermatogenesis produces four functional gametes. 
Reason: Oogenesis results in the formation of only one functional ovum because the 
other three cells become polar bodies, which do not contribute to fertilization. 

8. कथन: Ǔनषेचन के दौरान, अĒͪपडंक सͩĐय होता है िजससे शुĐाणु अडंाणु मɅ Ĥवेश करता 
है। 
कारण: अĒͪपडंक मɅ ऐसे एंजाइमɉ का ͪवमोचन होता है जो अडंाणु के जोना पेलेͧसडा  को 
तोड़ते हɇ, िजसस ेशुĐाणु Ĥवेश कर पाता है। 
Assertion: During fertilization, the acrosome reaction is triggered to facilitate sperm 
penetration into the ovum. 
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Reason: The acrosome reaction involves the release of enzymes that break down the 
zona pellucida of the ovum, allowing sperm to enter. 

9. कथन: पीत ͪपÖड  कȧ उपिèथǓत गभा[वèथा कȧ Ĥारंͧभक िèथǓत को बनाए रखने के ͧलए 
आवæयक है। 
कारण: पीत ͪपÖड  Ĥोजèेटेरोन का İाव करता है, जो गभा[शय कȧ आंतǐरक परत को 
बनाए रखता है, जब तक ÜलेसɅटा इसकȧ भूͧमका नहȣं ले लेता। 
Assertion: The presence of the corpus luteum is essential for the initial maintenance of 
pregnancy. 
Reason: The corpus luteum secretes progesterone, which maintains the endometrial 
lining until the placenta takes over its function. 

10. कथन: अÛतरȾपण ĤͩĐया मɅ कोरक पुटȣ  का गभा[शय कȧ दȣवार मɅ समावेशन होता है। 
कारण: अÛतरȾपण  के बाद, पोष कोरक  परत hCG का İाव करती है, जो पीत ͪपÖड  को 
Ĥोजèेटेरोन उ×पादन बनाए रखने के ͧलए संकेत देता है। 
Assertion: The process of implantation involves the blastocyst embedding into the 
uterine lining. 
Reason: Once implantation occurs, the trophoblast layer secretes hCG, which signals the 
corpus luteum to maintain progesterone production and sustain pregnancy. 

11. कथन: ͪवकासा×मक तंğ मɅ Ǔनषेचन के बाद ħूण का ͪवभाजन और आकार का Ǔनधा[रण 
पहले से Ǔनधा[ǐरत होता है। 
कारण: Ǔनषेचन के समय हȣ ħूण के जीनोम मɅ सभी आवæयक सूचना होती है, जो ͪवकास 
के Ǒदशा-Ǔनदȶशɉ को Ǔनयंǒğत करती है। 
Assertion: In the developmental process, the division and patterning of the embryo post-
fertilization are predetermined. 
Reason: The genome of the embryo contains all the necessary information from the 
moment of fertilization, which controls the developmental directives. 

12. कथन: संरचना×मक Ǿप से दोनɉ युÊमकɉ मɅ समानताएँ होती हɇ, लेͩकन उनके योगदान मɅ 
अतंर होता है। 
कारण: अडंाणु मɅ अͬधक कोͧशका ġåय  और पोषक त×व होते हɇ, जबͩक शुĐाणु मɅ 
गǓतशीलता और DNA का Ĥमुख योगदान होता है। 
Assertion: Structurally, both gametes are similar, but their contributions differ. 
Reason: The ovum has more cytoplasm and nutrients, whereas the sperm contributes 
primarily with motility and DNA. 

13. कथन: èğी हामȾन (एèĚोजन) कȧ भूͧमका केवल अडंाणु के ͪवकास तक सीͧमत नहȣं 
होती। 
कारण: एèĚोजन का èतर मǑहला शरȣर मɅ Ĥजनन Ĥणालȣ के ͪवͧभÛन चरणɉ मɅ 
रचना×मक और काया[×मक पǐरवत[न को Ǔनयंǒğत करता है। 
Assertion: The role of the female hormone (estrogen) is not limited to the development 
of the ovum. 
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Reason: Estrogen regulates structural and functional changes in the female reproductive 
system at various stages of the menstrual cycle. 

14. कथन: ħूण मɅ िèथत ×वचीय  और अͬधचमȸय कोͧशकाओं का ͪवकास एक दसूरे से 
संबंͬधत नहȣं होता है । 
कारण: ×वचीय  कोͧशकाओं मɅ ͪवभाजन का Ǔनयंğण ħूण के अͬधचमȸय   कोͧशकाओं 
ɮवारा होता है, जो एक समिÛवत ͪवकास सुǓनिæचत करते हɇ। 
Assertion: The development of dermal and epidermal cells in the embryo is not related. 
Reason: The division of dermal cells is controlled by the embryonic epidermal cells, 
ensuring coordinated development. 

15. कथन: जÛम के बाद, मǑहला शरȣर मɅ Ĥोजèेटेरोन का èतर अचानक ͬगरने से माͧसक धम[ 
चĐ को गǓत ͧमलती है। 
कारण: Ĥोजèेटेरोन का अचानक ͬगरना गभा[शय कȧ परत को उƣेिजत करता है, िजसस े
रÈतİाव और चĐ कȧ पुनरारंभ होती है। 
Assertion: After birth, the sudden drop in progesterone levels initiates the menstrual 
cycle. 
Reason: The sudden drop in progesterone stimulates the uterine lining, leading to 
menstruation and the restart of the cycle. 

16. कथन: रासायǓनक Ǔनषेचन कȧ ĤͩĐया मɅ केवल शुĐाणु का DNA हȣ अडंाणु मɅ Ĥवेश 
करता है। 
कारण: शुĐाणु कȧ अĒͪपडंक ͩĐया केवल अडंाणु कȧ बाहरȣ परत (जोना पेलेͧसडा ) को 
तोड़ने के ͧलए होती है, जबͩक DNA का Ĥवेश बाद मɅ होता है। 
Assertion: In chemical fertilization process, only the DNA of the sperm enters the 
ovum. 
Reason: The acrosomal reaction of the sperm is only to break down the ovum's outer 
layer (zona pellucida), while the DNA enters later. 

17. कथन: अडंजनन के दौरान अडंाणु केवल एक काया[×मक Ǿप से तैयार अडंाणु Ĥदान करता 
है। 
कारण: अडंजनन के पǐरणामèवǾप उ×पÛन तीन Ģवुीय ͪपÖडɉ मɅ से कोई भी काया[×मक 
नहȣं होती, इसͧलए केवल एक अडंाणु का ͪवकास होता है। 
Assertion: During oogenesis, only one functionally mature ovum is produced. 
Reason: Out of the three polar bodies formed during oogenesis, none are functional, and 
thus, only one ovum develops. 

18. कथन: èğी के शरȣर मɅ Ĥजनन ĤͩĐया के Ǔनयंğण मɅ गभा[शय का मह×वपूण[ योगदान 
होता है। 
कारण: गभा[शय काया[×मक गǓतͪवͬधयां ħूण को िèथर करने और गभा[वèथा कȧ दौरान 
उसके ͪवकास के ͧलए उपयुÈत वातावरण Ĥदान करने मɅ सहायक होती हɇ। 
Assertion: The uterus plays a significant role in regulating the reproductive process in 
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females. 
Reason: The functional activities of the uterus help stabilize the embryo and provide a 
conducive environment for its development during pregnancy. 

19. कथन: èटेम कोͧशका के ͪवभाजन कȧ ĤͩĐया और उनका èथान ͪवकासा×मक कारकɉ 
ɮवारा Ǔनयंǒğत होते हɇ। 
कारण: èटेम कोͧशकाओं का गुणसूğ (chromosomal) िèथरता सुǓनिæचत करना और 
ͪवभाजन मɅ ĤगǓत कȧ गǓत को Ǔनयंǒğत करना ͪवकासा×मक कारकɉ पर Ǔनभ[र करता है। 
Assertion: The process and localization of stem cell division are controlled by 
developmental factors. 
Reason: The chromosomal stability of stem cells and the rate of progression in division 
are dependent on developmental signals. 

20. कथन: कृǒğम गभा[धान तकनीक, जैसे IVF, सामाÛय Ǿप से मǑहला के शरȣर मɅ èवèथ 
अडंाणु का चयन करती है। 
कारण: IVF मɅ केवल उन अडंाणुओं को चनुा जाता है, िजनमɅ उÍच गुणवƣा और ͪवकास 
कȧ ¢मता होती है, िजससे गभा[धान कȧ सफलता दर बढ़ जाती है। 
Assertion: Assisted reproductive technologies like IVF generally select healthy eggs 
from the female body. 
Reason: In IVF, only those eggs with high quality and developmental potential are 
chosen, increasing the success rate of fertilization. 

MCQs 

1. Which of the following is an example of an outbreeding device in plants? 
a) Self-pollination 
b) Dioecism 
c) Cross-pollination 
d) Parthenocarpy 
 

Ǔनàनͧलͨखत मɅ से कौन सा पौधɉ मɅ बाéयĤजनन उपकरण का उदाहरण है? 

a) èव-परागण 

b) ɮͪवकͧलगंता  
c) Đॉस-परागण 

d) अǓनषेक फलन   

 
2.What is the primary function of the pistil in a flower? 
a) Pollination 
b) Fertilization 
c) Production of ovules 
d) Both b and c 
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फूल मɅ èğी केसर का Ĥमुख काय[ Èया है? 

a) परागण 

b) Ǔनषेचन 

c) अडंाणुओं का उ×पादन 

d) दोनɉ b और c 

 
3. Which of the following statements about double fertilization is correct? 
a) One male gamete fuses with the egg cell to form the zygote. 
b) The other sperm fuses with the secondary nucleus to form the endosperm. 
c) Both a and b 
d) None of the above 
 

Ǔनàनͧलͨखत मɅ से कौन सा कथन ɮͪव-Ǔनषेचन के बारे मɅ सहȣ है? 

a) एक नर युÊमक अÖडकोͧशका  के साथ ͧमलकर युÊमनज (zygote) बनाता है। 
b) दसूरा नर युÊमक Ģवुीय केÛġक के साथ ͧमलकर ħूणपोष बनाता है। 
c) दोनɉ a और b 

d) इनमɅ से कोई नहȣं 
 
4.What is the significance of seed dispersal in plants? 
a) Prevents overcrowding 
b) Ensures genetic diversity 
c) Both a and b 
d) None of the above 
 

पौधɉ मɅ बीज Ĥसार का Èया मह×व है? 

a) अͬधक भीड़ को रोकना 
b) आनुवंͧशक ͪवͪवधता सुǓनिæचत करना 
c) दोनɉ a और b 

d) इनमɅ से कोई नहȣं 
5.In human reproduction, the process of sperm formation is called: 
a) Spermatogenesis 
b) Oogenesis 
c) Menstruation 
d) Fertilization 
 

मानव Ĥजनन मɅ शुĐाणु Ǔनमा[ण कȧ ĤͩĐया को Èया कहते हɇ? 

a) शुĐाणुजनन (Spermatogenesis) 
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b) अडंाणुजनन (Oogenesis) 

c) माͧसक धम[ (Menstruation) 

d) Ǔनषेचन (Fertilization) 

6.What is the main function of the corpus luteum in the menstrual cycle? 
a) Stimulates egg production 
b) Secretes progesterone to maintain pregnancy 
c) Initiates menstruation 
d) Facilitates fertilization 
 

आत[व चĐ मɅ काप[स ãयूǑटयम का मुÉय काय[ Èया है? 

a) अडंाणु उ×पादन को उƣेिजत करना 
b) गभा[वèथा बनाए रखने के ͧलए Ĥोजèेटेरोन का İाव करना 
c) माͧसक धम[ को शुǾ करना 
d) Ǔनषेचन को सुͪवधाजनक बनाना 
 
7. What is the stage of development of the embryo at the time of implantation in the human 
uterus? 
a) Blastocyst 
b) Zygote 
c) Morula 
d) Embryo 
 

मानव गभा[शय मɅ अÛतरȾपण के समय ħूण का कौन सा ͪवकासा×मक चरण होता है? 

a) कोरक पुटȣ  (Blastocyst) 

b) युÊमज (Zygote) 

c) मोǽला (Morula) 

d) ħूण (Embryo) 

 
8. Which of the following methods is not a contraception method? 
a) Oral contraceptives 
b) Intrauterine device (IUD) 
c) Amniocentesis 
d) Barrier methods 
 

Ǔनàनͧलͨखत मɅ से कौन सा ͪवͬध गभ[Ǔनरोधक ͪवͬध नहȣं है? 

a) मौͨखक गभ[Ǔनरोधक (Oral contraceptives) 

b) गभा[शय के अदंर उपकरण (IUD) 
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c) अिàनयोसɅटेͧसस (Amniocentesis) 

d) अवरोधक ͪवͬधयाँ (Barrier methods) 

9. What does IVF stand for in assisted reproductive technologies? 
a) Intra-Venous Fertilization 
b) In Vitro Fertilization 
c) Intra-Fallopian Fertilization 
d) None of the above 
 

सहायक Ĥजनन तकनीकɉ मɅ IVF का Èया अथ[ है? 

a) इÛĚा-वेÛस फǑट[लाइजेशन (Intra-Venous Fertilization) 

b) इन ͪवĚो फǑट[लाइजेशन (In Vitro Fertilization) 

c) इÛĚा-फैलोͪपयन फǑट[लाइजेशन (Intra-Fallopian Fertilization) 

d) इनमɅ से कोई नहȣं 
10.Which of the following is not a post-fertilization event? 
a) Formation of zygote 
b) Formation of embryo 
c) Formation of endosperm 
d) Development of seed coat 
 

Ǔनàनͧलͨखत मɅ से कौन सी Ǔनषेचन पæचात घटना नहȣं है? 

a) युÊमज का Ǔनमा[ण 

b) ħूण का Ǔनमा[ण 

c) ħूणपोष का Ǔनमा[ण 

d) बीज आवरण का ͪवकास 

11. During oogenesis, which of the following is the correct sequence of stages? 
a) Primary oocyte → Secondary oocyte → Ovum 
b) Primary oocyte → Ovum → Secondary oocyte 
c) Secondary oocyte → Ovum → Primary oocyte 
d) None of the above 
 

अडंाणुजनन (Oogenesis) के दौरान, Ǔनàनͧलͨखत मɅ से सहȣ Đम Èया है? 

a) Ĥाथͧमक अडंाणु → ɮͪवतीयक अडंाणु → अडंाणु 
b) Ĥाथͧमक अडंाणु → अंडाणु → ɮͪवतीयक अडंाणु 
c) ɮͪवतीयक अडंाणु → अडंाणु → Ĥाथͧमक अडंाणु 
d) इनमɅ से कोई नहȣं 
12.What is the main role of the placenta during pregnancy? 
a) Secretes hormones for pregnancy maintenance 
b) Provides nutrients to the developing fetus 
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c) Eliminates waste products from the fetus 
d) All of the above 
 

गभा[वèथा के दौरान अपरा का मुÉय काय[ Èया है? 

a) गभा[वèथा बनाए रखने के ͧलए हामȾन का İाव करना 
b) ͪवकͧसत ħूण को पोषक त×व Ĥदान करना 
c) ħूण से अपͧशçट पदाथɟ को Ǔनकालना 
d) उपरोÈत सभी 
13.Which of the following statements about amniocentesis is false? 
a) It is a method used to detect genetic disorders 
b) It is performed during the first trimester of pregnancy 
c) It involves taking a sample of amniotic fluid 
d) It is a technique used for contraceptive purposes 
 

अिàनयोसɅटेͧसस (Amniocentesis) के बारे मɅ Ǔनàनͧलͨखत मɅ से कौन सा कथन गलत है? 

a) यह आनुवंͧशक ͪवकारɉ का पता लगाने के ͧलए एक ͪवͬध है 

b) यह गभा[वèथा के पहले ğमैाͧसक (trimester) के दौरान ͩकया जाता है 

c) इसमɅ अिàनयोǑटक ġव का एक नमूना ͧलया जाता है 

d) यह गभ[Ǔनरोधक उɮदेæय के ͧलए एक तकनीक है 

14. What is the main difference between polyembryony and parthenocarpy? 
a) Polyembryony involves multiple embryos from one ovule, while parthenocarpy involves 
fruit development without fertilization. 
b) Polyembryony involves fruit development without fertilization, while parthenocarpy 
involves multiple embryos from one ovule. 
c) Both involve the development of multiple embryos in the same ovule 
d) None of the above 
 

बहु-ħूणता (Polyembryony) और अǓनषेक फलन (Parthenocarpy) मɅ मुÉय अतंर Èया है? 

a) बहु-ħूणता   मɅ एक अडंाणु से कई ħूण बनते हɇ, जबͩक अǓनषेक फलन   मɅ Ǔनषेचन के 
ǒबना फल का ͪवकास होता है। 
b) बहु-ħूणता मɅ Ǔनषेचन के ǒबना फल का ͪवकास होता है, जबͩक अǓनषेक फलन   मɅ एक 
अडंाणु से कई ħूण बनते हɇ। 
c) दोनɉ मɅ एक हȣ अडंाणु मɅ कई ħूण का ͪवकास होता है। 
d) इनमɅ से कोई नहȣं 
15. What is the term for the release of an ovum from the ovary? 
a) Menstruation 
b) Ovulation 
c) Fertilization 
d) Implantation 



10 | P a g e  
 

अडंाशय से अडंाणु के ͪवमोचन को Èया कहते हɇ? 

a) माͧसक धम[ 
b) अडंो×सज[न (Ovulation) 

c) Ǔनषेचन 

d) अÛतरȾपण   

16. In the context of double fertilization in angiosperms, which of the following is formed 
by the fusion of a male gamete with  two polar nuclei? 
a) Zygote 
b) Endosperm 
c) Embryo sac 
d) Secondary oocyte 
 

पुçपीय पौधɉ मɅ ɮͪव-Ǔनषेचन के संदभ[ मɅ, Ǔनàनͧलͨखत मɅ से कौन सा नर युÊमक केÛġक 
और दो पोलर नाͧभकɉ के ͧमलन से बनता है? 

a) युÊमज (Zygote) 

b) ħूणपोष   (Endosperm) 

c) ħूण थैलȣ (Embryo sac) 

d) ɮͪवतीयक अडंाणु (Secondary oocyte) 

 
17.Which of the following statements is incorrect regarding the menstrual cycle? 
a) The luteal phase begins after ovulation. 
b) The secretion of progesterone is high during the follicular phase. 
c) Estrogen levels are highest during ovulation. 
d) Menstruation occurs when progesterone and estrogen levels fall. 
 

माͧसक धम[ चĐ (Menstrual cycle) के बारे मɅ Ǔनàनͧलͨखत मɅ से कौन सा कथन गलत है? 

a) ãयूǑटयल चरण (Luteal phase) अडंो×सग[(Ovulation) के बाद शुǾ होता है। 
b) पुटकȧय चरण  (Follicular phase) के दौरान Ĥोजèेटेरोन का İाव उÍच होता है। 
c) अडंो×सग[(Ovulation) के दौरान एèĚोजन का èतर सबसे अͬधक होता है। 
d) माͧसक धम[ (Menstruation) उस समय होता है जब Ĥोजèेटेरोन और एèĚोजन का èतर 
ͬगरता है। 
18. Which of the following is a characteristic feature of polyembryony in plants? 
a) Development of several embryos from a single zygote. 
b) Formation of multiple seeds from one ovule, resulting in multiple embryos. 
c) Parthenocarpic fruit development. 
d) Formation of an embryo without fertilization. 
 

पौधɉ मɅ बहु-ħूणता(Polyembryony) का कौन सा ͪवशषे ल¢ण है? 
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a) एक युÊमज (Zygote) से कई ħूण का ͪवकास। 
b) एक अडंाणु से कई बीजɉ का Ǔनमा[ण, िजसके पǐरणामèवǾप कई ħूण होते हɇ। 
c) अǓनषेक फलन  फल का ͪवकास। 
d) Ǔनषेचन के ǒबना ħूण का Ǔनमा[ण। 
19. In human males, the structure that provides nutrition to developing sperm is: 
a) Seminal vesicle 
b) Sertoli cells 
c) Leydig cells 
d) Epididymis 
 

मानव पुǽषɉ मɅ, वह संरचना जो ͪवकͧसत हो रहे शुĐाणुओं को पोषण Ĥदान करती है, वह है: 
a) सेͧमनल वेͧसकल (Seminal vesicle) 

b) सटȾलȣ कोͧशकाएँ (Sertoli cells) 

c) लेइͫडग कोͧशकाएँ (Leydig cells) 

d) एͪपͫडडाइͧमस (Epididymis) 

 
20. Which of the following is not a feature of assisted reproductive technologies (ART)? 
a) In vitro fertilization (IVF) 
b) Intra-cytoplasmic sperm injection (ICSI) 
c) Surrogacy 
d) Natural conception 
 

Ǔनàनͧलͨखत मɅ से कौन सी सहायक Ĥजनन तकनीक (ART) कȧ ͪवशषेता नहȣं है? 

a) इन ͪवĚो Ǔनषेचन (IVF) 

b) इंĚा-साइटोÜलािèमक शुĐाणु इंजेÈशन (ICSI) 

c) सरोगेसी (Surrogacy) 

d) ĤाकृǓतक Ǔनषेचन (Natural conception) 

 
One Word Answer Questions 

Q1: What is the term for the fusion of male and female gametes in flowering plants? 

 फूलɉ मɅ नर और मादा जनन कोͧशकाओं के ͧमलन को Èया कहा जाता है? 

Q2: What is the name of the structure where pollen grains are produced in flowers? 

 फूलɉ मɅ परागकण कहां बनते हɇ? 

Q3: Which part of the flower develops into a seed? 

 फूल का कौन सा Ǒहèसा बीज मɅ ͪवकͧसत होता है? 

Q4: What is the process in which pollen from one flower fertilizes the ovule of another 
flower? 

 एक फूल के पराग स ेदसूरे फूल के अडंाणु को Ǔनषेͬचत करने कȧ ĤͩĐया Èया कहलाती है? 
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Q5: What is the name of the female gametophyte in flowering plants? 

 फूलɉ मɅ मादा युÊमकोɮͧभद का Èया नाम है? 

Q6: Which event occurs after fertilization, involving the formation of endosperm? 

 Ǔनषेचन के बाद ͩकस घटना मɅ ħूणपोष का Ǔनमा[ण होता है? 

Q7: Which type of seed dispersal involves water as an agency? 

 ͩकस Ĥकार का बीज Ĥसार जल के माÚयम से होता है? 

Q8: What is the process of fruit formation without fertilization? 

 Ǔनषेचन के ǒबना फल बनने कȧ ĤͩĐया Èया है? 

Q9: In which mode of reproduction multiple embryos are formed from a single fertilized 
egg? 

 ͩकस Ĥजनन तरȣके मɅ एक Ǔनषेͬचत अडंाणु से कई ħूण बनते हɇ? 

Q10: What is the term for the mature ovule that forms  after fertilization? 

 Ǔनषेचन के बाद पǐरपÈव अडंाणु से बनने वालȣ संरचना Èया कहलाती है?  

Q11: Which structure in males is responsible for the production of sperms? 

 पुǽषɉ मɅ शुĐाणु Ǔनमा[ण के ͧलए कौन सी संरचना िजàमेदार है? 

Q12: What is the term for the process of sperm formation in males? 

 पुǽषɉ मɅ शुĐाणु Ǔनमा[ण कȧ ĤͩĐया Èया कहलाती है? 

Q13: Which hormone triggers ovulation in females? 

 मǑहलाओं मɅ अडंो×सज[न को कौन सा हामȾन उƣेिजत करता है? 

Q14: What is the process by which the fertilized egg implants into the uterine wall? 

 Ǔनषेͬचत अडंाणु गभा[शय कȧ दȣवार मɅ कब और कैसे आरोͪपत होता है? 

Q15: What is the term for the initial stage of human embryo development, where it forms a 
ball of cells? 

 मानव ħूण के ͪवकास के Ĥारंͧभक चरण को Èया कहा जाता है, िजसमɅ यह कोͧशकाओं का 
एक गोला बनाता है? 

Q16: What is the name of the protective sac surrounding the fetus in the uterus? 

 गभा[शय मɅ ħूण के चारɉ ओर सुर¢ा कवच के Ǿप मɅ Èया संरचना होती है? 

Q17: Which structure in females produces eggs? 

 मǑहलाओं मɅ अडं े(अडंाणु) का Ǔनमा[ण करने वालȣ संरचना कौन सी है? 

Q18: What is the process of milk production in females after childbirth? 

 Ĥसव के बाद मǑहलाओं मɅ दधू उ×पादन कȧ ĤͩĐया Èया कहलाती है? 

Q19: What method involves the use of sperm or eggs from a donor for fertilization in IVF? 

 IVF मɅ Ǔनषेचन के ͧलए दाता से शुĐाणु या अडंाणु का उपयोग करने कȧ ĤͩĐया Èया है? 

Q20: What is the procedure called for the termination of pregnancy using medical means? 

 ͬचͩक×सा ͪवͬध से गभ[पात करने कȧ ĤͩĐया Èया कहलाती है? 

2 Marks Questions 
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1. Explain the significance of cross-pollination. How does it increase genetic diversity in 
plants? 

पर-परागण का मह×व समझाएं। यह पौधɉ मɅ आनुवंͧशक ͪवͪवधता कैसे बढ़ाता है? 

2. Describe the process of pollen-pistil interaction and its role in successful fertilization. 

पराग और èğीकेशर के बीच इंटरैÈशन कȧ ĤͩĐया का वण[न करɅ और यह सफल Ǔनषेचन 
मɅ इसकȧ भूͧमका समझाएं। 

3. Why is double fertilization important in flowering plants? Explain the process with 
suitable examples. 

पुçपीय पौधɉ मɅ ɮͪवǓनषेचन Èयɉ मह×वपूण[ है? उदाहरणɉ के साथ इस ĤͩĐया कȧ 
åयाÉया करɅ। 

4. How do apomixis and parthenocarpy differ in terms of seed formation and fruit 
development? 

बीज Ǔनमा[ण और फल ͪवकास के संदभ[ मɅ असंगजनन और अǓनषेक फलन मɅ Èया 
अतंर है? 

5. Describe the process of development of endosperm and embryo post-fertilization. 

Ǔनषेचन के बाद ħूणपोष और ħूण कȧ ͪवकास ĤͩĐया का वण[न करɅ। 
6. How do environmental factors influence the type of pollination in flowering plants? 

पया[वरणीय कारक पुçपीय   पौधɉ मɅ परागण के Ĥकार को कैसे Ĥभाͪवत करते हɇ? 

7. Explain the role of polyembryony in seed development with an example. 

बीज ͪवकास मɅ पॉलȣएंĦायनी का योगदान उदाहरण के साथ समझाएं। 

8. Discuss the different methods of seed dispersal and their significance in plant 
propagation. 

बीज Ĥसार के ͪवͧभÛन तरȣकɉ और पौधɉ के Ĥबंधन मɅ उनके मह×व पर चचा[ करɅ। 
9. How does the structure of the flower adapt to different types of pollination? 

फूल कȧ संरचना ͪवͧभÛन Ĥकार के परागण के ͧलए कैसे अनुकूͧलत होती है? 

10. What is the significance of fruit formation in plant reproduction? 

पौधɉ के Ĥजनन मɅ फल Ǔनमा[ण का Èया मह×व है? 

 
11. Analyze the process of spermatogenesis and its regulation by hormones in the male 

reproductive system. 

शुĐ जनन कȧ ĤͩĐया का ͪवæलेषण करɅ और नर Ĥजनन तंğ मɅ हामȾन के ɮवारा इसके 
Ǔनयंğण को समझाएं। 

12. How does the menstrual cycle regulate ovulation? Explain the hormonal changes 
involved. 

आत[व चĐ अडंो×सग[ को कैसे Ǔनयंǒğत करता है? इसमɅ शाͧमल हामȾनल पǐरवत[नɉ कȧ 
åयाÉया करɅ। 

13. Explain the stages of embryo development from fertilization to blastocyst formation. 

Ǔनषेचन स ेलेकर कोरक पुटȣ  के Ǔनमा[ण तक ħूण ͪवकास के चरणɉ कȧ åयाÉया करɅ। 
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14. Discuss the role of the placenta in pregnancy. How does it facilitate exchange between 
mother and fetus? 

गभा[वèथा मɅ अपरा कȧ भूͧमका पर चचा[ करɅ। यह मां और ħूण के बीच आदान-Ĥदान 
कैसे सुͪवधाजनक बनाता है? 

15. How does parturition occur in humans? Describe the stages involved. 

मानवɉ मɅ Ĥसव कैसे होता है? इसमɅ शाͧमल चरणɉ का वण[न करɅ। 
16. Explain the process of lactation and its hormonal regulation during the postpartum 

period. 

èतनपान कȧ ĤͩĐया और Ĥसवोƣर अवͬध मɅ इसके हामȾनल Ǔनयंğण कȧ åयाÉया करɅ। 
17. Analyze the structure and function of the human ovary and testis in relation to 

gametogenesis. 

मानव अडंाशय और वषृण कȧ संरचना और काय[ का ͪवæलेषण करɅ , ͪवशषेकर युÊमक 
Ǔनमा[ण के संदभ[ मɅ। 

18. Describe the events that occur during fertilization in humans. 

मानवɉ मɅ Ǔनषेचन के दौरान होने वालȣ घटनाओं का वण[न करɅ। 
 

19. Discuss the various methods of contraception. Analyze their effectiveness and side 
effects. 

गभ[ Ǔनरोध के ͪवͧभÛन तरȣकɉ पर चचा[ करɅ। उनकȧ Ĥभावशीलता और साइड इफेÈɪस 
का ͪवæलेषण करɅ। 

20. Explain the role of assisted reproductive technologies like IVF and ZIFT in treating 
infertility. 

सहायक जनन Ĥौɮयोͬगͩकयां जैसे IVF और ZIFT का बांझपन उपचार मɅ Èया योगदान 
है, इसकȧ åयाÉया करɅ। 

3  Marks Questions 
1. In a hybridization experiment, a botanist used a plant species whose anthers do not 
dehisce. What challenges might arise during artificial pollination, and how can they be 
overcome? 

      एक संकरण (Hybridization) Ĥयोग मɅ, एक वनèपǓतशाèğी ने एक ऐसे पौधे कȧ ĤजाǓत का 
उपयोग ͩकया, िजसके परागकोष (Anther) का èफुटन(dehisce) नहȣं होता है। कृǒğम परागण 
(Artificial Pollination) के दौरान ͩकन चुनौǓतयɉ का सामना करना पड़ सकता है, और उÛहɅ कैसे 
दरू ͩकया जा सकता है? 

 
2. A farmer observed that some plants in his field produced seeds without undergoing 
fertilization. Identify and explain the biological phenomenon responsible for this. 

एक ͩकसान ने देखा ͩक उसके खेत मɅ कुछ पौधɉ ने Ǔनषेचन  के ǒबना बीज उ×पÛन कर Ǒदए। 
इस जैͪवक घटना कȧ पहचान करɅ और इसे èपçट करɅ। 
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3. In a self-incompatible  plant species, how does pollen-pistil interaction  prevent self-
pollination , and what molecular mechanism regulates this process? 

एक èव-असंगत पौधɉ कȧ ĤजाǓत मɅ, पराग-वǓत[काĒ पारèपǐरक ͩĐया èव-परागण को कैसे रोकती 
है, और इस ĤͩĐया को कौन-सा आणͪवक तंğ Ǔनयंǒğत करता है? 

 
4. How does double fertilization  in angiosperms  provide an adaptive advantage over 
gymnosperms ? 

आवतृबीजी पौधɉ मɅ ɮͪवǓनषेचन अनावतृबीजी पौधɉ कȧ तुलना मɅ ͩकस Ĥकार एक अनुकूलन लाभ  

Ĥदान करता है? 

 
5. In a certain plant species, seeds  remain dormant  for years, whereas in another species, seeds 
germinate immediately after dispersal. Analyze the possible reasons behind this difference. 

कुछ पौधɉ कȧ ĤजाǓतयɉ मɅ बीज  वषɟ तक सुसुÜत रहते हɇ, जबͩक अÛय ĤजाǓतयɉ मɅ वे Ĥसार के 
तुरंत बाद अकुंǐरत  हो जाते हɇ। इस ͧभÛनता के संभाͪवत कारणɉ का ͪवæलेषण करɅ। 
 
6. A horticulturist wants to produce seedless oranges . What biological method should be used to 
achieve this, and what are its advantages? 

एक बागवानी ͪवशषे£  ǒबना बीज वाले संतरे उ×पÛन करना चाहता है। इस उɮदेæय को ĤाÜत 
करने के ͧलए कौन-सी जैͪवक ͪवͬध अपनाई जानी चाǑहए, और इसके Èया लाभ हɇ? 

 
7. Why is pollination  necessary for fruit  and seed formation  in most angiosperms? Explain with 
an example. 

अͬधकांश आवतृबीजी पौधɉ  मɅ फल  और बीज Ǔनमा[ण के ͧलए परागण आवæयक Èयɉ होता है? 

एक उदाहरण सǑहत èपçट करɅ। 
8. A student observed that in some plant species, multiple embryos were present inside a single 
seed . What could be the reason for this, and what is this phenomenon called? 

एक ͪवɮयाथȸ ने देखा ͩक कुछ पौधɉ कȧ ĤजाǓतयɉ मɅ, एक हȣ बीज के अदंर एक से अͬधक ħूण 
मौजूद थे। इसका संभाͪवत कारण Èया हो सकता है, और इस घटना को Èया कहा जाता है? 

9. If a flower is cleistogamous , will it require pollinators  for fertilization? Justify your answer. 

यǑद कोई पुçप Èलेèटोगैमस  है, तो Èया उस ेपरागणकता[ओं (Pollinators) कȧ आवæयकता होगी? 

अपने उƣर को तक[  सǑहत èपçट करɅ। 
10. In certain fruits like banana development occurs without fertilization What is this process 
called, and how does it benefit the plant? 

कुछ फलɉ जैसे केले मɅ, Ǔनषेचन के ǒबना हȣ ͪवकास हो जाता है। इस ĤͩĐया को Èया कहा जाता 
है, और यह पौधे को ͩकस Ĥकार लाभ पहंुचाती है? 

11. A defect in spermatogenesis leads to male infertility. Which hormones regulate this process, 
and how can hormone therapy help in such cases? 



16 | P a g e  
 

यǑद ͩकसी नर मɅ शुĐाणुजनन कȧ ĤͩĐया मɅ दोष हो, तो इससे बांझपन  हो सकता है। इस 
ĤͩĐया को Ǔनयंǒğत करने वाले कौन-कौन से हामȾन हɇ, और हामȾन ͬचͩक×सा इसमɅ कैसे 
सहायक हो सकती है? 

12. How does the menstrual cycle get disrupted in women due to stress or malnutrition? Explain 
the hormonal changes involved. 

तनाव  या कुपोषण के कारण मǑहलाओं मɅ माͧसक धम[ चĐ ͩकस Ĥकार बाͬधत होता है? इसमɅ 
होने वाले हामȾनल पǐरवत[नɉ को èपçट करɅ। 
13. A couple is unable to conceive due to blocked fallopian tubes. Which assisted reproductive 
technology can help them? Explain its procedure. 

एक दंपͪƣ ͫडबंवाǑहनी नͧलकाओं के अवǽɮध होने के कारण सतंान उ×पÛन नहȣं कर पा रहे हɇ। 
कौन-सी सहायक Ĥजनन तकनीक उनकȧ सहायता कर सकती है? इसकȧ ĤͩĐया èपçट करɅ। 
14. A woman undergoes amniocentesis. What is its purpose, and why is its misuse banned in 
India? 

यǑद ͩकसी मǑहला कȧ एिàनयोसɅटेͧसस (Amniocentesis) ĤͩĐया करवाई जाती है, तो इसका 
उɮदेæय Èया है, और भारत मɅ इसके दǽुपयोग पर ĤǓतबंध Èयɉ लगाया गया है? 

15. Explain how oral contraceptive pills prevent pregnancy by altering the hormonal balance in 
the body. 

मौͨखक गभ[Ǔनरोधक गोͧलयाँ (Oral Contraceptive Pills) शरȣर मɅ हामȾनल संतुलन को बदलकर 
गभा[वèथा को कैसे रोकती हɇ? 

16. In what ways can sexually transmitted diseases impact reproductive health? Mention two 
preventive measures. 

यौन संचाǐरत रोग (STDs) Ĥजनन èवाèØय (Reproductive Health) को ͩकस Ĥकार Ĥभाͪवत कर 
सकते हɇ? दो रोकथाम उपायɉ का उãलेख करɅ। 
17. Compare IVF(in-vitro fertilization) and ZIFT (Zygote Intra-Fallopian Transfer) in terms of 

their procedures and applications. 

इन ͪवĚो Ǔनषेचन (IVF) और युÊमनज अतंःͫडबंवाǑहनी èथानांतरण (ZIFT) को उनकȧ ĤͩĐयाओं 
और अनुĤयोगɉ के संदभ[ मɅ तुलना करɅ। 

 
18. Why is breastfeeding  considered beneficial for both the mother and the newborn? 

èतनपान को मा ँऔर नवजात ͧशशु दोनɉ के ͧलए लाभदायक Èयɉ माना जाता है? 

19. Why do testes  in human males remain outside the abdominal cavity? How does this 
structural adaptation help in spermatogenesis ? 

मानव पुǽषɉ मɅ वषृण उदर गुहा के बाहर Èयɉ िèथत होते हɇ? यह सरंचना×मक अनुकूलन 

शुĐाणुजनन मɅ ͩकस Ĥकार सहायक होता है? 

20. If a woman’s corpus luteum  fails to function properly after ovulation, how will it affect 
pregnancy? Explain the hormonal changes involved. 
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यǑद ͩकसी मǑहला के पीतͪपडं  का काय[ सहȣ ढंग से न हो, तो इसका गभा[वèथा पर Èया Ĥभाव 
पड़गेा? इसमɅ होने वाले हामȾनल पǐरवत[नɉ को èपçट करɅ। 
 

4 -Marks Long Answer Questions 

1. पौधɉ मɅ परागण कȧ ͪवͧभÛन एजɅͧसयɉ कȧ Ĥभावशीलता का ͪवæलेषण कȧिजए। यह पौधɉ कȧ 
Ĥजनन सफलता को कैसे Ĥभाͪवत करता है? 

Analyze the effectiveness of different pollination agencies in plants. How do they influence 
reproductive success in plants? 

2. आउट-Ħीͫडगं ͫडवाइसेज़ के अभाव मɅ पौधɉ मɅ आनुवंͧ शक ͪवͪवधता पर संभाͪवत Ĥभावɉ का 
मूãयांकन कȧिजए। 
Evaluate the possible effects on genetic variation in plants in the absence of outbreeding devices. 

3. पराग-जायांग ͩĐया को Ǔनयंǒğत करने वाले जवै-रासायǓनक तंğɉ कȧ åयाÉया करɅ और परागण 
कȧ सफलता मɅ इसकȧ भूͧमका का ͪवæलेषण करɅ। 
Explain the biochemical mechanisms controlling pollen-pistil interaction and analyze its role in 
successful pollination. 

4. ɮͪवǓनषेचन कȧ ĤͩĐया का ͪववरण दȣिजए तथा यह पौधɉ के ͪवकासवादȣ Ǻिçटकोण से Èयɉ 
मह×वपूण[ है? 

Describe the process of double fertilization and explain why it is significant from an evolutionary 
perspective in plants. 

5. एपोͧमिÈसस और अǓनषेक फलन   कȧ तुलना कȧिजए। कृͪष मɅ इनका Èया मह×व है? 

Compare apomixis and parthenocarpy. What is their significance in agriculture? 

6. बीज के ͪवकास कȧ ĤͩĐया को चरणबɮध Ǿप मɅ समझाइए और बीज ͪवतरण (Seed 

Dispersal) कȧ महƣा का मूãयांकन कȧिजए। 
Explain the stepwise process of seed development and evaluate the significance of seed 
dispersal. 

7. ͩकसी एक ͪवशषे परागण एजɅसी को Úयान मɅ रखते हुए एक पौधे कȧ फूल संरचना कȧ 
कãपना कȧिजए और इसे ͬचğ सǑहत बनाइए। 
Design the floral structure of a plant adapted to a specific pollination agency and illustrate it with 
a diagram. 

8. यǑद ͩकसी पौधे मɅ केवल èव-परागण होता हो, तो उसके दȣघ[काͧलक ͪवकास पर Ĥभावɉ कȧ 
åयाÉया करɅ। 
If a plant exclusively undergoes self-pollination, explain its long-term evolutionary 
consequences. 

9. गभा[शय कȧ संरचना और Ǔनषेचन के दौरान उसमɅ होने वाले पǐरवत[नɉ का ͪवæलेषण कȧिजए। 
Analyze the structure of the ovary and the changes occurring in it during fertilization. 



18 | P a g e  
 

10. बीजाÖड और परागकण दोनɉ हȣ बहुकोͧशकȧय संरचनाएँ होते हɇ। इनके Ǔनमा[ण कȧ ĤͩĐया 
कȧ तुलना कȧिजए। 
Both ovule and pollen grain are multicellular structures. Compare their formation processes. 
 

11. मनुçयɉ मɅ शुĐाणुजनन (Spermatogenesis) और अडंाणजुनन (Oogenesis) कȧ तुलना कȧिजए 
और इनके बीच तीन Ĥमखु अतंरɉ का मूãयांकन करɅ। 
Compare spermatogenesis and oogenesis in humans and evaluate three major differences 
between them. 

12. माͧसक धम[ के दौरान ͪवͧभÛन हामȾनɉ के èतर मɅ पǐरवत[न को दशा[ने वाला एक Ēाफ 
बनाइए और इन पǐरवत[नɉ का Ĥजनन ͩĐया पर Ĥभाव समझाइए। 
Draw a graph showing hormonal fluctuations during the menstrual cycle and explain their impact 
on reproductive processes. 

13. अगर Ǔनषेचन के तुरंत बाद Ĥोजèेटेरोन हामȾन का İाव नहȣं हो तो गभा[वèथा पर Èया 
Ĥभाव पड़गेा? 

If progesterone secretion ceases immediately after fertilization, what will be its impact on 
pregnancy? 

14. अपरा (Placenta) केवल ħूण का हȣ अगं नहȣं होता बिãक यह माँ और ħूण के बीच एक 
जैͪ वक पुल कȧ तरह काय[ करता है। इस कथन कȧ åयाÉया करɅ। 
Placenta is not merely an organ of the fetus but acts as a biological bridge between the mother 
and the fetus. Explain. 

15. मानव ħूण के ͪवकास कȧ जǑटलताओं का अÚययन कर कृǒğम गभा[धान (Artificial 

Insemination) कȧ आवæयकता और इसकȧ सीमाओं का मूãयांकन कȧिजए। 
Analyze the complexities of human embryonic development and evaluate the need for artificial 
insemination along with its limitations. 

16. गभ[Ǔनरोध के ͪवͧभÛन तरȣकɉ कȧ तुलना कȧिजए और उनके दȣघ[काͧलक Ĥभावɉ का मूãयांकन 
करɅ। 
Compare different methods of contraception and evaluate their long-term effects. 

17. अगर समाज मɅ केवल ĤाकृǓतक गभ[Ǔनरोध ͪवͬधयɉ का उपयोग ͩकया जाए, तो जनसÉंया 
वɮृͬध पर इसके संभाͪवत Ĥभावɉ का ͪवæलेषण करɅ। 
If only natural contraceptive methods are used in society, analyze the potential impacts on 
population growth. 

18. अगर ͩकसी देश मɅ मेͫडकल टͧम[नेशन ऑफ ĤेÊनɅसी (MTP) को पूण[तः ĤǓतबंͬ धत कर Ǒदया 
जाए, तो इसके संभाͪवत सामािजक और èवाèØय Ĥभावɉ का ͪवæलेषण करɅ। 
If medical termination of pregnancy (MTP) is completely banned in a country, analyze its 
potential social and health implications. 

19. पाğ ेǓनषेचन और ĤाकृǓतक Ǔनषेचन के बीच ħूण ͪवकास कȧ ĤͩĐया मɅ तीन Ĥमुख अतंरɉ 
कȧ åयाÉया करɅ। 



19 | P a g e  
 

Explain three major differences in embryonic development between in-vitro fertilization (IVF) 
and natural fertilization. 

20. यǑद ͩकसी åयिÈत मɅ अडंाणु या शुĐाणु उ×पादन स ेसबंंͬधत समèया हो, तो ͩकन सहायक 
Ĥजनन तकनीकɉ (ART) का उपयोग ͩकया जा सकता है? उनके Ĥभावɉ का मूãयांकन करɅ। 
If an individual has issues with ovum or sperm production, which assisted reproductive 
technologies (ART) can be used? Evaluate their effects. 
 
Case Studies 
 
CASE STUDY 1 
A farmer named Ramesh noticed that the yield of his mango orchard had significantly decreased 
over the past few years. Concerned about this, he consulted an agricultural expert. The expert 
found that the population of honeybees in the area had reduced due to excessive pesticide use, 
leading to poor pollination. The expert suggested introducing artificial pollination techniques and 
planting nectar-rich flowers around the orchard to attract bees. 

रमेश नामक एक ͩकसान ने देखा ͩक ͪपछले कुछ वषɟ मɅ उसके आम के बगीचे कȧ उपज मɅ 
काफȧ ͬगरावट आई है। इस समèया को लेकर वह एक कृͪष ͪवशषे£ से परामश[ करता है। 
ͪवशषे£ ने पाया ͩक अ×यͬधक कȧटनाशकɉ के उपयोग के कारण ¢ेğ मɅ मधुमिÈखयɉ कȧ संÉया 
मɅ कमी आई है, िजसस ेपरागण Ĥभाͪवत हुआ है। ͪवशषे£ ने सुझाव Ǒदया ͩक कृǒğम परागण 
तकनीकɉ को अपनाया जाए और मधुमिÈखयɉ को आकͪष[त करने के ͧलए बगीचे के आसपास 
मकरंद युÈत फूल लगाए जाएं। 
 Questions: 

1. What are the types of pollination? Which type of pollination is affected in this case? (2 
marks) 

परागण के कौन-कौन से Ĥकार होते हɇ? इस केस मɅ कौन सा परागण Ĥभाͪवत हुआ है? (2 

अकं) 
2. Which agency primarily facilitates pollination in mango flowers? (1 mark) 

आम के फूलɉ मɅ परागण मुÉय Ǿप से ͩकस एजɅसी ɮवारा होता है? (1 अकं) 
3. Name one artificial pollination technique used in agriculture. (1 mark) 

कृͪष मɅ ĤयुÈत एक कृǒğम परागण तकनीक का नाम बताइए। (1 अकं) 
 
CASE STUDY 2 
 
A scientist conducted an experiment on a flowering plant to study its reproductive mechanism. 
She carefully observed that when the pollen grain lands on the stigma, two male gametes are 
released. One gamete fuses with the egg to form the zygote, while the other fuses with the polar 
nuclei to form the triploid endosperm. This unique process ensures nourishment for the 
developing embryo. 

एक वै£ाǓनक ने एक पुçपीय पौधे पर एक Ĥयोग ͩकया ताͩक उसके Ĥजनन तंğ का अÚययन 
ͩकया जा सके। उÛहɉने देखा ͩक जब परागकण वǓत[काĒ पर ͬगरता है, तो दो नर युÊमक मुÈत 
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होते हɇ। इनमɅ से एक युÊमक अडंाणु के साथ ͧमलकर युÊमज (zygote) बनाता है, जबͩक दसूरा 
Ģवुीय नाͧभकɉ के साथ ͧमलकर ǒğगुͨणत ħूणपोष (triploid endosperm) का Ǔनमा[ण करता है। 
यह अनोखी ĤͩĐया ͪवकͧसत होते ħूण के पोषण को सुǓनिæचत करती है। 
 Questions: 

1. What is double fertilization, and what is its significance in plants? (2 marks) 

ɮͪव Ǔनषेचन  Èया है और इसका पौधɉ मɅ Èया मह×व है? (2 अकं) 
2. Which tissue nourishes the embryo in angiosperms? (1 mark) 

पुçपीय पौधɉ  मɅ ħूण का पोषण कौन सा ऊतक करता है? (1 अकं) 
3. Name the two products formed as a result of double fertilization. (1 mark) 

ɮͪव Ǔनषेचन  के पǐरणामèवǾप बनने वाले दो उ×पादɉ के नाम बताइए। (1 अकं) 
 
CASE STUDY 3 
Neha, a 24-year-old woman, visited a gynecologist due to irregular menstrual cycles. The doctor 
explained that hormonal imbalances can cause disruptions in the menstrual cycle, affecting 
ovulation and fertility. She was advised to maintain a balanced diet, exercise regularly, and avoid 
stress to regulate her cycle. 

नेहा, 24 वषȸय युवती, अǓनयͧमत आत[व चĐ कȧ समèया को लेकर èğी रोग ͪवशषे£ के पास 
गई। डॉÈटर ने समझाया ͩक हामȾन असंतुलन के कारण माͧसक धम[ चĐ मɅ गड़बड़ी हो सकती 
है, िजसस ेओåयूलेशन और Ĥजनन ¢मता Ĥभाͪवत होती है। डॉÈटर ने उसे संतुͧलत आहार लेने, 
Ǔनयͧमत åयायाम करने और तनाव से बचने कȧ सलाह दȣ ताͩक आत[व चĐ को Ǔनयͧमत ͩकया 
जा सके। 
 Questions: 

1. What are the different phases of the menstrual cycle, and what changes occur in each 
phase? (2 marks) 

माͧसक धम[ चĐ के ͪवͧभÛन चरण कौन-कौन से हɇ, और Ĥ×येक चरण मɅ Èया पǐरवत[न 
होते हɇ? (2 अकं) 

2. Which hormone surge triggers ovulation? (1 mark) 

ओåयूलेशन ͩकस हामȾन के उÍच èतर पर होता है? (1 अकं) 
3. Name one factor that can cause irregular menstrual cycles. (1 mark) 

एक कारक का नाम बताइए जो माͧसक धम[ चĐ मɅ अǓनयͧमतता का कारण बन सकता 
है। (1 अकं) 

 
CASE STUDY 4 
A couple was trying to conceive for the past five years but was unsuccessful. They visited a 
fertility specialist who diagnosed the woman with blocked fallopian tubes. The doctor 
recommended In Vitro Fertilization (IVF), where eggs and sperm are fertilized outside the body 
in a laboratory, and the resulting embryo is implanted into the uterus. 
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एक दंपǓत ͪपछले पांच वषɟ से संतान ĤािÜत का Ĥयास कर रहा था लेͩकन सफल नहȣं हो पा 
रहा था। उÛहɉने एक Ĥजनन ͪवशषे£ से परामश[ ͧलया, िजसने मǑहला के फैलोͪपयन ɪयूÞस मɅ 
ǽकावट पाई। डॉÈटर ने इन ͪवĚो फǑट[लाइज़ेशन (IVF) कȧ सलाह दȣ, िजसमɅ अडंाणु और शुĐाणु 
को शरȣर के बाहर Ĥयोगशाला मɅ Ǔनषेͬचत ͩकया जाता है और ͪवकͧसत ħूण को गभा[शय मɅ 
अÛतरȾपण ͩकया जाता है। 
 Questions: 

1. Explain the process of In Vitro Fertilization (IVF) briefly. (2 marks) 

इन ͪवĚो फǑट[लाइज़ेशन (IVF) कȧ ĤͩĐया को सं¢ेप मɅ समझाइए। (2 अकं) 
2. Name one other Assisted Reproductive Technology (ART) apart from IVF. (1 mark) 

IVF के अलावा एक अÛय अͧसèटेड ǐरĤोडिÈटव टेÈनोलॉजी (ART) का नाम बताइए। (1 

अकं) 
3. In which part of the female reproductive system does natural fertilization occur? (1 mark) 

मादा जनन तंğ के ͩकस भाग मɅ ĤाकृǓतक Ǔनषेचन होता है? (1 अकं) 
 
CASE STUDY 5 
A young couple visited a doctor for family planning advice. The doctor explained various 
contraceptive methods, including barrier methods, hormonal pills, and surgical methods. The 
couple opted for an intrauterine device (IUD) as a long-term reversible method of contraception. 

एक नवͪववाǑहत दंपǓत पǐरवार Ǔनयोजन कȧ सलाह लेने डॉÈटर के पास गया। डॉÈटर ने उÛहɅ 
ͪवͧभÛन गभ[Ǔनरोधक तरȣकɉ के बारे मɅ समझाया, िजनमɅ बाधा ͪवͬधयां (Barrier methods), 

हामȾनल गोͧलयां और शãय ͬचͩक×सा (surgical methods) शाͧमल थीं। दंपǓत ने दȣघ[काͧलक 
ĤǓतवतȸ गभ[Ǔनरोध के Ǿप मɅ अतंग[भा[शयी उपकरण (IUD) को चनुा। 
 Questions: 

1. What are the different methods of contraception? (2 marks) 
गभ[Ǔनरोध के ͪवͧभÛन तरȣके कौन -कौन स ेहɇ ? (2 अकं) 

2. Name one hormonal contraceptive method. (1 mark) 
एक हामȾनल गभ[Ǔनरोधक ͪवͬध का नाम बताइए। (1 अकं) 

3. What is the full form of IUD? (1 mark) 
IUD का परूा नाम Èया है? (1 अकं) 

   
 

 
 


